RN K SEARE BT e OV NUBR B S 26 S 51 0 — 8 & SIE 3 5 5451
FROBERLRET 5,
S5 2H9H
fEtE BIXKE N O

RN K SEORTE BT M OV MR OR B S5 3E A S 1 0 — 8 & S IE 3 5 5451
R KSR B BT e OV BSR40 (1 3 6 LUK EHIE 1 95) D
—H AR D X HIZHIET D,
RS 1 HOREW XK EARER OB G XKEM T H 2 538 4 7]
IR AE-THS 1E&1 75 kD,
il
ZOEHBNE, SF5HE6H 1 9 B Bitrd 5,

(FRZ=HH)
KEALRBEREONME L LTS LBEND D,



HH 1

B

i

R KSR AL PR B

\\,GAUV 33 1 m




&Hl 2
A XL KB B R BN

0¥

B
H & B 7 ) — ME—EEREE M 3T
oM@ 2, 206. 68 nf r —
O M 1, 108. 39ni 1 l
11 2 s 3 B b it | 1
KRB 872. 8611 — 872. 861t | l
” I 2=T 45060 LK — — 786. 28t — 786. 281t §_§| lg—;
* K R 57.63nf | 998. 24ni — — 1, 055. 87ni éggl l§
. B g fr 33. 87 54. 8501 88. 72nd ;5}|l :ig ALl
A R 83. 25 31. 01 31.01n 6.38nf | 151, 65nd , | L . _
i it 1,047.61nf | 1,029.25mf | 872 14ni 6.38m | 2,955. 381t | | ﬁ; Acicjfﬁﬁé\ifﬁi?’jfg _
" l | 1 —={d, PEEL 3 EI RN I
e — BRSE AR i | W3 SHEOHNLIX, mET 5,
| |
' l
S ] -
R Y | N
| "
************ |
l
< AR Bt I
= AR l
l
l
— i
O L ________ %’iﬁ&_ﬂ%%’%
p s | e A
INE% P \
B !
o l
AR 1
AR i
| LTI =
=
=
)
— — S— — — R 1 |
A T e [T | JE AR %‘ ,
\ T ‘ [ — \ —
_________ . _
T BB

S=1/250



T2.60 1T 2.69 1

7.28

19. 02

6. 45

ALK EALR B R -

! 50.56 1
o731 7.70 T 8. 20 T 6. 17 T 4.08 5.35 T 5.05 T 7.12 77326 1
| i 2
Eﬁ@ =
- 75. 14 %
—_— 73 ~
5 OB : ]
NYT7 7V —hrAL 5 g
W | ﬂ a [\4 - smRs H =
U — 112.20 L o
FHE  EE=R . :
57.54 m N
I iﬁlﬂ 1
i ] —
1 7%
63. o
SAE| <
H—F I B
N =
1 2.73 | 7.70 | 8. 20 | 6.17
1P EEK S=1/250
LA s AKEALRE E
E1 AF, FEHAODZRT,
H2 —— Ik, BEROEXY FRERT, s K X EAE
3 =ik, A T AR—=RAERT,
N E4 SPHEOHMIX, mET 5, LB
HES KEOEKTIE, ml (m) Z/mR7,

&% 3



